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NEET MACRO TEST 3 (15.12.2024) 20x4=80 MARKS

Botany: Anatomy of flowering plants, Cell: The Unit of Life

Zoology: Breathing & Exchange of Gases, Body fluids & circulation
Chemistry: Thermodynamics, Equilibrium, Redox reactions

Physics: Mechanical Properties of Solids, Mechanical Properties of Fluids

1. Stele does not include
1) Pericycle
2) Endodermis
3) Pith
4) Phloem

2. In which of the given xylem components, cell wall
is not lignified?
1) Tracheids
2) Vessel
3) Xylem parenchyma
4) Xylem sclerenchyma

3. Pericycle is not involved in
1) Storage of food material
2) Formation of root hair
3) Formation of cambial ring in root
4) Providing mechanical support to the plant

4. _i_ are specialised parenchymatous cells
connected with _ii_ by pit fields present between
their common longitudinal walls.

Select the correct option for the words to fill in
the blanks (i) and (ii).

1) (i) Phloem parenchyma, (ii) Companion cells
2) (1) Companion cells, (ii) Sieve tube elements

3) (i) Sieve tube elements, (ii) Phloem fibres

4) (i) Phloem fibres, (ii) Phloem parenchyma

5. Living tissue which also provides mechanical
support due to corner deposition of
hemicellulose and pectin is
1) Parenchyma
2) Collenchyma
3) Sclerenchyma
4) Xylem
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6. The meristem, which occurs between mature
tissues
1) Is known as intercalary meristem
2) Is found in all plants
3) Is always secondary in origin
4) Is not responsible for the elongation of plant
organs

7. The innermost layer of cortex in dicot roots is
1) Bundle sheath
2) Endodermis
3) Pericycle
4) Hypodermis

8. Phloem parenchyma
1) Is only living component of phloem
2) Is absent in most of the monocots
3) Lacks pits
4) Synthesises food material but does not store it

9. Infoldings of cell membrane in bacterial cells are
called
1) Gas vacuoles
2) Inclusion bodies
3) Mesosomes
4) Cristae

10. Which of the following features is common to
both prokaryotes and eukaryotes?
1) Presence of nucleic acid
2) Cell wall present
3) Nuclear membrane present
4) Sub cellular organelles present

11. Most abundant lipid in the cell membrane is
1) Neurolipid
2) Glycolipid
3) Phospholipid
4) All of these

12. Cell membrane is not involved in
1) Endocytosis
2) Secretion
3) Cell growth
4) Provides shape to the cell

13. Middle lamella is mainly composed of
1) Lignin
2) Pectin
3) Hemicellulose
4) Suberin
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14.Which of these is not present in a plant cell wall?

15.

16.

17.

18.

1) Suberin
2) Mannan
3) Galactan
4) Cellulose

Organelles which are not included in the
endomembrane system even though their
functions are coordinated
1) Ribosomes
2) Chloroplasts
3) Mitochondria
4) All of these

Read the four statements (a—d) given below.

a) Bundle of His is present in pericardium.

b) P-wave in ECG represents
depolarisation.

c) Single circulation is found in fishes and
amphibians.

d) Maximum blood enters from atria into
ventricles during ventricular diastole.

The two correct statements are

1)aandb

2)bandc

3)aandd

4)bandd

atrial

Chemosensitive area adjacent to the rhythm
centre is most sensitive for

1) Concentration of O2 and Nz in blood

2) Concentration of CO2 and N2 in blood

3) Concentration of CO2 and H* in blood

4) Concentration of O, and H* in blood

Higher number of RBCs in the blood of a

mountain dweller in comparison to a person

residing in plains can be explained by

1) Lack of pollutants in higher mountainous
regions

2) Less pO2 in atmospheric air on mountains
requiring more RBCs to supply the required
amount of O; to tissues

3) Better nutrition intake of mountain dwellers

4) Enhanced erythropoiesis in mountain dwellers
due to high exposure to UV rays
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Match the following

a) Heart i) Blood is not pumped effectively to

attack meet the needs of body

b) Heart  |ii) Heart stops beating completely

failure

c) Cardiac [iii) Heart muscles are suddenly

arrest damaged due to inadequate blood
supply

1) aii), biii), c(i)
2) a(iii), b(i), c(ii)
3) a(i), bii), c(iii)
4) a(iii), b(ii), c(i)

Changes in CO2 concentration in blood are
detected by

1) Chemosensitive areas of cerebellum

2) Aortic chemoreceptors only

3) Carotid receptors in spinal cord

4) Receptors in carotid artery and aortic arch

Statement-A: Vital capacity is defined as the
total volume of air present in the lungs and the
respiratory passage after a maximum inspiration.
Statement-B: Inspiratory Reserve Volume is
defined as the additional or extra volume of air a
person can expire by forceful expiration.

1) Both statements are correct.

2) Statement A is correct.

3) Statement B is correct

4) Both statements are incorrect.

Clinical assessment of pulmonary functions can
be done by using

1) Sphygmomanometer

2) Spirometer

3) ECG

4) EEG

Assertion: Sympathetic nervous system acts
through epinephrine hormone and increases the
cardiac output.

Reason: Normal activities of heart are regulated

intrinsically i.e. autoregulated by specialised

muscles (nodal tissue).

1) Both Assertion & Reason are true and the
reason is the correct explanation of the
assertion

2) Both Assertion & Reason are true but the
reason is not the correct explanation of the
assertion

3) Assertion is true statement but Reason is false

4) Both Assertion and Reason are false
statements
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Select the incorrect statement w.r.t. nodal tissue

of the heart.

1) The entire nodal tissue from sino—atrial node
to Purkinje fibres has the ability to generate
action potentials.

2) All parts of nodal tissue can generate same
number of action potentials per minute.

3) Both sino—atrial and atrio—ventricular nodes
are present in right atrium.

4) Sino-atrial node normally acts as the
pacemaker.

Select a pair of factors responsible for shift in
oxygen—dissociation curve to left and right side
respectively from standard

1) Low pOz2, high pCO2

2) Higher temperature, low BPG level

3) Low pH, high pO-

4) low [H]* concentration, high temperature

Normally, the largest amount of urea would be
carried by which of the following blood vessels
in mammals?

1) Hepatic vein

2) Hepatic portal vein

3) Hepatic artery

4) Renal vein

In the figure given below, the structure marked
as ‘X’ is made up of

2) Capillary endothelium
3) Thin squamous epithelium
4) Thin columnar epithelium

Which of the following is correct sequence of
events for inspiration?

A: Contraction of diaphragm and external
intercostal muscles increase the volume of
thoracic  chamber, anteroposteriorly and
dorsoventrally respectively.

B: Air rushes into lungs under negative pressure
breathing.

C: Intrapulmonary pressure decreases.

1)A B, C

2)AC,B

3)B,AC

4)B,C, A
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Match the items given in column | with those in
column 11 and select the correct option given
below w.r.t. humans.

a) Erythrocytes |i) Release heparin  and
histamine

b) Basophils i) Engulf bacteria and cell
debris

¢) Monocytes iii) Enucleated

d) Lymphocytes |iv) Second most abundant

leucocytes

1) aiii), b(ii), c(iv), d(i)
2) a(iii), b(i), c(iv), d(ii)
3) a(iii), b(i), c(ii), d(iv)
4) a(iii), b(ii), c(i), d(iv)

How many of the following given statements are

correct w.r.t. blood groups?

(a) ABO grouping is based on the presence or
absence of three surface antigens on the
RBCs

(b) Persons with ‘AB’ group can accept blood
from persons with ‘A’ group

(c) In Rh incompatibility, Rh antibodies from the
foetus destroy mother RBCs

(d) Rh incompatibility is observed in case of
blood of Rh negative pregnant mother and
blood of Rh negative foetus

1)2

2)3

3)4

4) 1

2 moles of a gas is expanded isothermally and
reversibly from 10 lit. to 50 lit at 300 K
temperature. Work done during the process is
(Given logi105 = 0.7)

1) - 8.04 kJ

2) +12.5kJ

3)-4.01kJ

4) +6.2 kJ

Intensive property among the following is
1) Heat capacity

2) Volume

3) Enthalpy

4) Density

A process is always non spontaneous if
1) AH>0and AS<0
2) AH >0 and AS >0
3) AH<0and AS>0
4) AH<0and AS<0
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3) AH<0and AS>0

4) AH<0and AS<0
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For which of the following, enthalpy of
formation is zero?

1) C)

2) Brag)

3) C(graphite)

4) C(diamond)

The enthalpy change for the reaction
Catho (9) + () Oz () — 4COz (g) + 5H20(g)

is (Given: bond energy of C-C,C-H,C=0,
O =0, and H — O bonds are X1, X2, X3, X4 and Xs
kJ/mol respectively)

1) 3x1 + 10X2 — 6.5x4

2) 3x1 + 10x2 — 8x3 + 6.5x4 — 10xs

3) 3x1 + 6.5%2 + 8x3 — 10X4

4) 3x1 + 10x2 + 8x3 — 6.5%4 + 10Xs

For a sparingly soluble salt (A2B3z) the
relationship of its solubility product (Ksp) with its
solubility (S) is
1) Kgp = 108S°
2) Ksp = 2784
3) Ksp = 8185
4) Ksp = 7285

The conjugate acid of CO%~ is
1) C204_

2) HCO3

3) H.COs

4) CO2

For which of the following reaction Kp= Kc?
1) C(s) + O2(g) — CO2(g)

2) PCls(g) — PCls(g) +Cl2(g)

3) 4Fe(s) +302(g) — 2Fe203(s)

4) N204(9)—2NO2(9)

Addition of inert gas at constant pressure in
equilibrium always causes same effect as of

1) Increasing volume

2) Increasing temperature

3) Increasing concentration

4) All of these

For the equilibrium

NH4HS(s) = NHs(g) + H2S(g)

The value of Kp is 0.16. The total equilibrium
pressure of the mixture is

1) 0.4 atm

2) 0.8 atm

3) 0.2 atm

4) 0.1 atm
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LeieuheusdiouBrled  6THBES, 2 (HeUTHSE ) 60t
GTRIHTEULT Ly eRe3luIDTGLD?
1) C
2) Brag)
3) C(graphite)
4) C(diamond)

lleneTHTe 61631HTe0L LOTHBMLD

CiHuo (@) + (3) Oz (g) — 4C02 (g) + 5H:0(0)
(Car@ésiu Lama: C-C,C-H,C=0,0=0,
wpsib H — O Uementiiy immed (wemmGui X1, X2,
X3, X4 opmib Xs KJ/mol)

1) 3x1 + 10x2 — 6.5X4

2) 3x1 + 10Xz — 8X3 + 6.5X4 — 10xs

3) 3X1 + 6.5%2 + 8x3 — 10x4

4) 3x1 + 10x2 + 8x3 — 6.5x4 + 10Xs

LGHWTS HIWGBamIgul o (Ish@ (A2B3) oiper
alemenOurmeflest ~ seydmer  (Ksp) — oiger
s Hme (S) CHmLity

1) Ksp = 10885

2) Ksp = 2784

3) Ksp = 8185

4) Ksp = 7285

CO%~ @6t Bewent SiLeOLD
1) C204_

2) HCO3

3) H.CO3

4) CO2

esteu(mid 61hd allewans@ Kp= Kc?
1) C(s) + O2(g) — CO2(9)

2) PCIs(g) — PCl3(g) +Cl2(q)

3) 4Fe(s) +302(g) — 2Fe203(s)
4) N204(g)—2N02(g)

FLoplensoulled BlenweowTen SI(DHSHHH 60 LobHS
aumemeud Galiugl eiGurgid 9185 alenenene
IBUBSSIIS!

1) saroiene) SiFHBHIIL]
2) Geutimpleneo 1S
3) Gepfley SiFH A

4) Benal SHIMRTHHID

FLOH MV G

NH4HS(s) = NHz(g) + H2S(g)

Kp @eit oghli 0.16. sevemeuuilest GLomgg FLomlenev
SWHBHID

1) 0.4 atm

2) 0.8 atm

3) 0.2 atm

4) 0.1 atm
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2Mg(s) + O2(s) — 2MgO

with respect to Mg, the process is called
1) oxidation

2) reduction

3) sublimation

4) dissociation

Statement-1: 4Na + O2 — 2Na20 is a redox
reaction.

Statement-I1: In the above reaction sodium acts
as oxidizing agent.

1) Both statements | and Il are correct

2) Both statements | & |1 are incorrect

3) Statement I is correct Il is incorrect

4) Statement | is incorrect Il is correct

Correct match
2Al,03 + 12Na — 6NaxO + 4Al
In this above reaction correct match is

a) Na gets 1) oxidised
b) Naactsas |ii) reduced
c) Al,Oz gets  |iii) reducing agent
d) Al20s acts as|iv) oxidizing agent

1) ai, b-ii, cHiii, d-iv
2) a—, biii, ci, d-iv
3) a—i, b—iv, ci, d-iii
4) a—iv, biii, cii, d—i

Consider the following chemical reaction,
MnOZ @g) + 1" (ag) — MnOz(s) + l2Gs)

Which of the following reactions is an oxidation
half-reaction?

1) MnOj (ag) — MnOx)

2) I(aq) — I2g9)

3) Both (1) and (2)

4) None of these

The average oxidation state of Br in Br3Og is
1)3

2)-16/3

3)16/3

4)3/16

46. A vessel containing oil (density = 0.8 g/cm®) over

mercury (density = 13.6 g/cm®) has a
homogeneous sphere floating with half of its
volume immersed in mercury and other half in
oil. The density of material of sphere in g/cm?®is
1) 3.3
2)6.4
3)7.2
4)12.8
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2Mg(s) + Oz(s) — 2MgO

Mg s QuTBISBHauemT, CFWeL(PmB E6ieuTsl
SIMPSBLILBH MBS

1) ousFHBeammid

2) @BSHHID

3) USHBIBLOTH60

4) aMevase0

awpp-l: 4Na + Oz — 2Na:0 eaiug @b
HINCaBB @bsHH alene.
gpp-ll: GG o siten  alemeiuisd  Bamguild
SHenICaripiwms GFwesoLBSBSHI.
1) 1 opmibd 1 @rewi® snBmisEnd Fiuimeaamel
2) 1 & |l @yewi®G FBBISEHD HeUBTETEN6
3) gnpml | f 1l Heuprerg)
4) apul | seupreng) 1 Fflwmerg)

gflwmer QUIT(HSHHLD
2A1203 + 12Na — 6Naz0 + 4Al
Bb5 CBsv 2 _siTen allened Fiflwimen GLIT(HSHSHLD

a) Na - syeigl 1) o1 HemCaBmriLL L g

b) Na QzuwisouBeugy |ii) @Béaliur L g

C) Al2Os - syeigl i) @B

d) Al2Os IV) ey derdlegGenring
CFweoLIBaISI

1) ai, b, ciii, d-iv
2) a—i, biii, ci, d-iv
3) ai, b—iv, cii, d-iii
4) a—iv, biii, cii, d—i

Wedteu(md Cougdy) ailenesteniids BHeveiiumisber,

MnOZ @g) + I'(ag) = MnO2s) + l25)

Weiteu(pd aflenenderiled 618 DLHFMGaBm oieny-
alener SyGID?

1) MnO% (ag) — MnOz)

2) I'ag) — I2s)

3) @yewiGb (1) wipib (2)

4) Benal 61D B606m6V

Br:Og ®ev Br et gynaif] ouébSmGamm mlenev
13 2)-16/3
3)16/3 4)3/16

utsrssHar 185 (oLjsHsd = 13.6 glem®)
stemiQemul (oILishs = 0.8 glcm?®) GanemiL g
& 6060 16 Lo &iflwiment GamendHmad
OaTemT(BeiTengl, SIH6I Slenaileir umg)

UTSHIFSHHID 1oBm UTE  eTeniGlemruienid eLppad
WM. Camensgladeiren GUTHeler DI TsH)
g/cm® e

1) 3.3

2) 6.4

3)7.2

4)12.8
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Two capillaries of same length and radii in the
ratio 1 : 2 are connected in series. A liquid flows
through them in streamlined condition. If the
pressure across the two extreme ends of the
combination is 1 m of water, the pressure
difference across first capillary is

1)94m

2)49m

3)0.49m

4)0.94 m

Statement-1: The stream of water flowing at high

speed from a garden hose pipe tends to spread

like a fountain when held vertically up but tends
to narrow down when held vertically down.

Statement-2: In any steady flow of an

incompressible fluid, the volume flow rate of the

fluid remains constant.

1) Statement 1 is true. Statement 2 is true.
Statement 2 is a correct explanation for
statement 1

2) Statement 1 is true. statement 2 is true.
statement 2 is not correct explanation for
statement 1

3) Statement 1 is true. statement 2 is false

4) Statement 1 is false. Statement 2 is true

Streamline motion of a liquid is that orderly type

of motion in which

1) the liquid stream may be divided into parallel
layers which flow past one another with
various velocities

2) the layer in contact with the wall of the tube
(in which liquid is flowing) is at rest

3) away from the wall towards the axis of the
tube, the velocity uniformly increases till it
becomes maximum on the axis of the tube

4) All of these

A horizontal cylinder has a piston of cross—
sectional area A and it contains a volume of
water V of density p in it. The cylinder has an
orifice of cross-sectional area a (A >> a) at is
closed end. The work done to squeeze all the
liquid in time ‘t” by means of a force F acting on
the piston is
V3
Dp

a?t?
3

2) 2 paztz
1

3)5p

)gP

azt2
V3
a?t?

9
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1: 2 ereni el& B FH60 G HeNld LoBmID DLIHIG6N
CamewiL.  @JewI(h  HIWIGWTUIS6T  GHTLFe0
B emewtdbBUILL (BeiTener. e  SHJeud  Djeumnslesr
auPlwims OBBINLGSHSUILL L Bleneoulled LITUISBESI.
sHevemaluler  @reniB  (PeMETHATID 2 6iTern
WSS 1 M geveniyre SHHSHTEL, (LPS&H6D
BhIS (PRUSID 2 6iTen SiHd GeupiLimb
1)94m

2)4.9m

3)0.49m

4)0.94m

ol GapmiLed  GWTUIHHheH  DIFHE
GousdhdHev @B mImagh OCFmEGHaTe BGBsv
M mEGL Cursl BapBnl Gured LFa BB,
LML CFRIGHHTH SO meudhIH(HdbGHD Gurg
G(HBIGLD.

FBE-2: SIPHD (LPIQUITSH HTeudde 6lbhH6leum(h

BlemeowITedl QL L HEHeID, FHreushaer Siene] L L

A& HLD LOTBTLO60 B(HBGSLD.

1) aapul 1 gfl. gapmi 2 oM. sl 2 61aTUg FaByl
1 &g gflwmet alenébasLom @b

2) gmpml 1 gfl. gapml 2 of. gpw 1 6@ Fmpol 2
Fflwimest aleN&alD £I6060

3) gnmpml 1 oM. gnBmI 2 Heupreig

4) gapml 1 peumtens. gapml 2 Fi

Qh SHJausFHler @ULSHH60 BUSHD 6TaTLS

RIRBIGUBSHSLILIL L. BUISHEHSH 6T 6UenSWLTGHLD

1) Slyeu BB L Hend Beneniuimedt DB SNTHL
flébseunid, Siened LieoGouml GeudbmishGrhL 6ot
Q&TeMBOWTETNI SL[Hd ClFe0d a6t

2) GWrulel GaubL e QBT BT SIBHE
(B560 FHyeuld LMUD) PUIATEL 2 _6iTerTd)

3) saufled @mbHH GTuler DFmF GHTHS,
GWTWIeT SIFFL DIFHBULFIOTH  B(HHEGHLD
aueny Geusld FITe HHafSHBSI

4) Benal HIMRTHHID

@ HemLIol L FlellewiLfle0 o e6iterm  LlerdL 6vfleot
GDIEGEMLE LGS A LBBID IFO p LSS
CamewiL. BI V oleme o eiTengl. FleVlewILflev
GBIHG0 G UGS a (A >> a) cigul (penetuied
o eitengl. LeLafled Oaweoupd F  allenguller
Weod  SipaISH  Hrusmsud ‘T CprHsled
(W HBID Gauensv
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Two capillaries of lengths L and 2L and radii R
and 2R are connected in series. The net rate of

flow of fluid through them when X = %R:
1) 8/9 X
2) 9/8 X
3) 5/7 X
4) 7/5 X

A, B and C are three capillary tubes of same
radius and same material. A is closed from top,
B is open from top and C is partially closed from
top. Height of rise of liquid in tubes in ascending
order is

A B
A C
1)A B, C
2)B, A, C
3)C,A,B
4)B,C,A

An oil drop of radius 1 cm is sprayed into 1000
small equal drops of same radius. If surface
tension of oil drop is 0.05 N/m the work done is
1)187nx 107"

2)180nx 1077

3) 1800w x 107" J

4) 18000 t x 107" J

The load versus elongation graphs for four wires
of same length and made of the same material are
shown in the figure. The thinnest wire is
represented by the line
Load t D
C

B

A

0 Elongation )
1) OA
2) OC
3) OD
4) OB

10
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L wBmd 2L @membd Gomewii  @yewi®
BIWIGOTUIS6T oBpId R oBpid 2R a;gw&m
OFTLfle0 QememtdbsLILIL (heierenr. X =
SIuBMl6T cLPeVLD HT6u gL L &H36oT Bl @ﬂaﬂg,w
1) 8/9 X
2)9/8 X

3) 5/7 X
4) 7/5 X

A, B opib C sydwienet @Gy ourid woBmid oGy
QuUITHeNEITeD LT FLPSIBI HbHIS GHLTUIH6T. A
Guwedmba Ll Berengl, B Guwelmba
HobHpsah  wipw C  ued  Gwalwmbsl
epL LIl (beengl.  gmleuflengulsd  Glomuiserled
FHeud e e1pFflullesr o _wiyid

A B

~ C

O>>w

WO wW>

C
C
B
A

1)
2)
3)
4)

1 cm guyb Garewi @p elaulemul Hiefl 185
oub Gamewi. 1000 FAflw s QFTLBH6eMed
OpefldaluGapgl. eamoemul Hefuller LFLL
Bupaiena 0.05 N/m eus BmHHTe0 GFu LG
Geuemev

1)18mx 107"

2)180mx 107

3) 1800 x 107" J

4) 18000 wx 107" J

Gy merd wBmID @Gy GuTHeTTeL GEFUILItILILL
BT SOLIBEHSHHTRN  FMD OBWID  BLIGLIL]
QUG LIL MBI 6IT UL &30 STLLLILL (heiT6renT.
Gevedw &L 61h euflwimed GHMlSaLILGEBSI
Load D
C

B

A

v

o Elongation
1) OA
2) OC
3) OD
4) OB
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A spring of force constant 800 N/m has an
extension of 5 cm. The work done in extending
it from 5 cm to 15 cm is

1)16J

2)81

3) 32

4) 24 ]

The Young's modulus of steel is twice that of
brass. Two wires of same length and of same area
of cross section, one of steel and another of brass
are suspended from the same roof. If we want the
lower ends of the wires to be at the same level,
then the weights added to the steel and brass
wires must be in the ratio of:

1)2:1

2)4:1

3)1:1

4)1:2

Steel ruptures when a shear of 3.5 x 108 N m~ is
applied. The force needed to punch a 1 cm
diameter hole in a steel sheet 0.3 cm thick is
nearly:

1) 1.4 x10*N

2)2.7x10*N

3)3.3x10*N

4)1.1x 10*N

Two wires are made of the same material and
have the same volume. However wire 1 has
cross—sectional area A and wire 2 has cross—
sectional area 3A. If the length of wire 1
increases by Ax on applying force F, how much
force is needed to stretch wire 2 by the same
amount?

D4F

2)6 F

3)9F

4) F

An elastic string of unstretched length L and
force constant k is stretched by a small length x.
It is further stretched by another small length y.
The work done in the second stretching is:

1) % ky?

2) Yo k(x? +y?)

3) Yo k(x +y)?

4) Y2 ky(2x +y)

11
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amem  alevedest  afena wrpfled 800 N/m 5 cm
BLiglienld OaTami(BeTengl. Siemdh 5 CM  (1pgHeL
15cm aueny BLligliugled Gauiwiul L Cealemev

1) 16J

2)81J

3) 32

4)24]

ol. . Fleit Wml  Gewisd LdhHemenenwt el @yewi(h
LOL I SIFHBLD. @@y  memb LOBmILD
GBS0 196 Gy uTLliuene OFmewmiL @)ewi{H
sUser, 6..@ WwBupid hsHmen @6y gnenguisd
B b RSl LGS emer. sbllsefiler &S
(Wpewenndeit BT 1oL L& 360 Bhdd Gerewt(BloeTlen,
6. & ppid Udhpmen sibllsefled CFJobslilBLd
eTemL_ 6T LlasTau(hld allalsgHaled EB)hdd GauemiBHLD
H2:1
2)4:1
3)1:1
4)1:2

.. 3.5 x 105 N m? Qeul (¢ LWSTLESSLILGLD
Gurgl o_anLdpal. 0.3 OFL5 HigLoeT QETeRIL 6. .G
grefled 1 cm allLb GC&TewiL  Hlenermenul
GSHBINBHBEG ChHemeuwimern alleng Sl L GHHL L

1) 1.4 x 10*°N

2)2.7x10*N

3)3.3x10*N

4)1.1x10*N

58. Byewi(h HLbLIE6T @By QUTHEMTeL GFUILILILL L 6D6

59.

wBBIb 6% Sleney OFTewiemel. @HLUILNaID
sl 1 epése Gl (G ugdh A Bpib Sl 2
GBIGBG Qe B uGd 3A 2 _siengl. F allengemuil
LWTUGSSHIDBUTEHI &L 1 @6t Hembd AX &6
iP5 fHS160, S 2 3 96H Sjeney B9
eT6l6U6Ta| aleng ChHemaulILIBLD?

D4F

2)6 F

3)9F

4)F

pULOULTS Bemd L wppid eleng wrfed K g
Fnslur Hemd X 60 BHLULUILGEBSH. BFH BB
Fnslur Berb Y epevtd GLogId BL 19SS (B6ITengl.
ByewiLmeugl B Fufled Gauwiu@G Ceauemev:

1) ¥ ky?

2) Y k(x* +y?)

3) Ve k(x +)?

4) Y2 ky(2x +y)
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60. Two wires A and B of same material and of equal 60. 1 : 2 ereii3 e1&HHH6O LIRIBEHLGIT FID [HENTLD
length with the radii in the ratio 1 : 2 are Camemi @8y Gummeflesr A wBmid B oudw
subjected to identical loads. If the length of A Brewih siblser @Gy IHFluirer SeniosEhdbE
increases by 8 mm, then the increase in length of 2 LuBSSILGSedmar. A et Hemd 8 mm
B is NP BFHSM60, HandFen Qs B aemg
1)2mm 1) 2mm
2) 4 mm 2) 4mm
3) 8 mm 3) 8 mm
4) 16 mm 4) 16 mm
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NEET MACRO TEST 3 (15.12.2024) 20x4=80 MARKS
Botany: Anatomy of flowering plants, Cell: The Unit of Life

Zoology: Breathing & Exchange of Gases, Body fluids & circulation

Chemistry: Thermodynamics, Equilibrium, Redox reactions

Physics: Mechanical Properties of Solids, Mechanical Properties of Fluids

Solution

1. Answer: (2) Properties which do not depend on the quantity
2. Answer: (3) of matter present are known as intensive
3. Answer: (2) properties.
4. Answer: (2)
5. Answer: (2) 33. Answer: (1)
6. Answer: (1) For non—-spontaneous process,
7. Answer: (2) AG=AH-TAS>0

: If AH > 0 and AS < 0 then AG > 0 therefore
8. Answer: (2)
9' Answer: 3) process is non spontaneous.
ﬂ ﬁnswerf %) 34. Answer: (3)

: nswer:( ) Standard enthalpy for formation, AsH°, of an
12. Answer: (4) element in reference state i.e. its most stable state
13. Answer: (2) of aggregation is taken as zero.

14. Answer: (1)
15. Answer: (1) 35. Answer: (2)
16. Answer: (4 13
16. Answer 53; CyHio(g) +20z(g) — 4C0s(g) +5H20(g)
18. Answer: (2) AHppn =% (Bond energy) _ (Bond energy)
19. Answer: (2) Reactant Products
20. Answer: (4) = (3591 + 10zs + 1—33:4) - (8:::3 + 10::5)
. 2

21. Answer: (4) =3xy + 10X, +6.5x,4 — Bxg — 10xg
22. Answer: (2)
23. Answer: (2) 36. Answer: (1
24. Answer: (2) FANSW _f ) 3. 9
25. Answer: (4) Az By = 2 ?S +3 ]:?S
26. Answer: (1) 3
27. Answer: (3) Ko = [A3+] [B*]
28. Answer: (2) = (28)* (39)°
29. Answer: (3) =45?% x 27S°
30. Answer: (4) =108S°
31. Answer: (1) 37. Answer: (2)

W = - 2.303 nRT log % CO;™ +H,0 — (ECOE +OH

i Bronsted njugate

W==2.303 x 2 x 8.314 x 300 x log 22 Base acid

=—-2303x2x8314x300x0.7

=-8.04kJ 38. Answer: (1)

Kp = Kc(RT)Ane
32. Answer: (4) If Ang=0
Kpr =Kc

1
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Answer: (1)
Addition of inert gas at constant pressure
increase the volume of container.

Answer: (2)

M - 0 0

{eq) - p p )
0.16 = K, = (pnn,) (Pr,s) = (P)(p) =p
p =0.4 atm

Total pressure at equilibrium=p +p
=04+04

=0.8 atm

Answer: (1)

Addition of O is oxidation.

Answer: (3)

Sodium acts as reducing agent.

Answer: (2)

a) Na gets oxidised

b) Na acts as reducing agent
c) Al2O3 gets reduced

d) Al acts as oxidizing agent

Answer: (2)
Oxidation means loss of electrons
So I” losses electron to form I

Answer: (3)
3x+8(-2)=0
3x=16

16

3

X

Answer: (2)
Using, weight of floating body = weight of
liquid displaced.

we get Vpg—{%} 13.6 g+ {%} 08¢

(" buoyant forces of mercury and oil act in
opposite direction)

13.6+0.8

Then p 7.2

Answer: (4)
In series combination rate of volume flow is

constant
Qi=Q
ﬂPlr14 Q TCPZr;

nt  8&ng

4
Pl 6
P, L

178, _ |
16

P, + P, = 1m of water

=P, =% =0.94m
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48. Answer: (1)
av = constant

T upwards

Velocity decreases then area increases
d downward

Velocity increases then area decreases

49. Answer: (4)
From basic knowledge

50. Answer: (3)
Using P:E we get F = PA
A
ie,F= lpva— lpv"‘A
2 2

Volume of water passing through orifice

V =avt
\Y 1 V?
orv=— . F=— =~ A
at 2pa2t“

Work done W=F x S
(where S is distance moved by piston)

1 Vv 1 VV

= AS=—p.—— (V=AS
2paz‘[2 2p a‘t” ( )
2pa2t2

51. Answer: (1)

Here, rate of flow =
eq

opposition offered by fluid. ie.,
resistance.
Here Reg =R + Ry

&L 8&nx2L 9 8nL
=gt —a =X 7

nR* n(2R)* 8 =R’

4
The rate of flow = S§PxmR =§(x).
9 8L 9

52. Answer: (4)

liquid will be affected.

2
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P .
— where Ry is

Atmospheric pressure will be less effective in
closed and partially closed capillaries so rise of
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53. Answer: (3)
Volume remains same

. iTcR3 = niﬂrcr3
3 3

1e., R= nr=10r

Work done = 4m1(1000 r* —R*) x S
=47(10 R? - R?) S = 36 nR’S
=36x7mx(1x107%)x0.05

= 1800 tx 107 ]

54. Answer: (1)
From the graph, it is clear that for the same value
of load, elongation is maximum for wire OA.
Hence OA is the thinnest wire among the four
wires.

55. Answer: (2)

Small amount of work done in extending the spring by
dx is
dW=kxdx
0.15
W=k j‘ xdx

0.05
_ 800 2 2
- [(0.15) —~(0.05) }
=400 [(0.15+0.05)(0.15—0.05)]
~400%02%0.1 =8J

56. Answer: (1)

Young's modulus Y = WL
oung's modulus A Al
W W
i Y,
[-- A, I, Al same for both brass and steel]
LTy LTy
A LAl LA, Al
Y, Y,
Brass Steel
ﬁ = E =2 [Ysteel'/Ybrﬂss =2 given]

W Y,

www.Trb Tnpsc.Com

57. Answer: (3)
D

P

=

Shearing strain is created along the side surface of the
punched disk. Note that the forces exerted on the disk are
exerted along the circumference of the disk, and the total
force exerted on its center only.

Let us assume that the shearing stress along the side surface
of the disk 1s uniform, then

F= [ = [ opdA=oy, [ dA
surface surface surface

D
= Icmax A= Gmax.Zrc(E} h

=3.5x10% x[%xlO_ZJXOBXIO_z %21

=3297x10* =3.3x10*N

58. Answer: (3)
< /

< (/3 >
Wire (2)
As shown in the figure, the wires will have the same
Young’s modulus (same material) and the length of the
wire of area of cross-section 34 will be //3 (same volume

as wire 1).
For wire 1,
FlA4 .
Y=
Ax// @
For wire 2,
 FY34 )
Ax/(013) -~ (11)
: . F ¢ F' 7
From (1) and (i1) , — X = F'=9F

,—X—= X
A Ax 34 3Ax
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59. Answer: (4)

_1 2
and W=7 kx+y)

1 1 .
W=w, -w, = Ek(x+ y)? —Ekx‘

—%ky(zx +)

60. Answer: (1)
Ratio of radii r;:r, = 1:2
Ratio of area, 4,:4, = nrl2 :m‘z2
A, :4,=1:4
Now, Stress, : Stress, =4 : 1
So, Strain, : Strain, =4 : 1
I 4
[, =2 mm
Increase in length of B is 2 mm.

4
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